Temperature Conversion Table

CONVERSION FORMULA:

°C X 1.8 plus 32 equals °F
°F - 32 + 1.8 equals °C
CELSIUS FAHRENHEIT CELSIUS ‘ FAHRENHEIT

-50 -58.8 60 140.0
-40 -40.0 70 158.0
-30 -22.0 80 176.0
-24 -13.0 90 194.0
-20 -4.0 100 212.0
=15 -5.0 110 230.0
-10 14.0 120 248.0

-5 23.0 130 266.0
32.0 140 284.0

5 41.0 150 302.0

10 50.0 160 320.0

15 59.0 170 338.0

20 68.0 180 356.0

25 77.0 190 374.0

30 86.0 200 392.0

35 95.0 210 410.0

40 104.0 220 428.0

45 113.0 240 446.0

50 122.0 250 482.0

- - 537.7 1000






